
LetsPlayMaths.com 
 
 

Copyright © 2021 LetsPlayMaths.com. All Rights Reserved. 
 
 

Exponent Worksheet – 1 

1. The multiplicative inverse of ൫3
4ൗ ൯2 is not equal to ൫4

3ൗ ൯2. Mark True/False. 

a)          True       b)  False 

2. ቀ
ଶ

ହ
ቁ

ିଶ
× ቀଶ

ହ
ቁ

ହ
 =ቀ

ଶ

ହ
ቁ

ଵ଴
 . Mark True/ False. 

a)          True       b) False 

3. The multiplicative inverse of (-3)-2 is (-3)-2. Mark True/False. 

a)          False       b)  True 

4. 123.35 = 1×102 + 2× 101 + 3 × 100 + 3×10-1 + 5 × 10-2. Mark True /False. 

a)          False       b) True 

5. The value of  ଵ

଻షమ  is equal to 49. Mark True /False. 

a)          True       b) False 

6. The expression for 9-3 as power with the base 3 is 36. Mark True /False. 

a)          False       b) True 

7. pm = ଵ

௣ష೘. Mark True / False. 

a)          False       b) True 

8. The exponential form of (3)4 × (5/3)4 is 54. 

a)          True       b) False 

9. pm × qn = (pq)mn. Mark True /False. 

 a)          True       b)  False 

10. 𝐴
௠

𝐵௠ൗ  = ൫𝐴
𝐵ൗ ൯

௠
. Mark True /False. 

a)          True       b)  False 

11. Multiplicative inverse of 109 is _____. 

a)          10-9       b) ቀ
ଵ

ଵ଴
ቁ

-ଽ
 

c)          109       d)  None of these 

12. 75 × 7 -5 =____. 

a)          0       b) 1 

c)          710       c) 7-25 

13. The expression of very small numbers in standard form by using ___exponents. 

a)          Positive       b) Both 
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c)          Negative       d) None 

14. The value of (7-1 – 9-1)-1 – (3-1 – 5-1)-1 is _____. 

a)          24       b) 44 

c)          -24       d) -48 

15. The standard form of 0.000034 is _____. 

a)          34 × 105       b) 3.4×10-5 

c)          340×105       d) 0.34× 105 

16. Which of following is same as ቀ−
ହ

଺
ቁ

ିଷ
? 

a)          ቀ−
଺

ହ
ቁ

ିଷ
       b) ቀ−

଺

ହ
ቁ

ଷ
 

b)          − ቀ
ହ

଺
ቁ

ଷ
       d) ቀ

ହ

଺
ቁ

ଷ
 

17. The value of (-3)2 × 3 – 3 is _____. 

a)          27       b) 81 

c)          -81       d) -27 

18. The multiplicative inverse of ቀ−
଻

ଽ
ቁ

ଽଽ
is _____. 

a)          ቀ−
଻

ଽ
ቁ

ିଽଽ
       b) ቀ

ଽ

଻
ቁ

ଽଽ
 

c)          ቀ
଻

ଽ
ቁ

ିଽଽ
       d) ቀ

ଽ

଻
ቁ

ିଽଽ
  

19. If y is any non -zero integer, then y-1 is equal to _____.  

a)          y       b) ଵ

௬
 

c)          -y       d) ିଵ

௬
 

20. On dividing 115 by ____, we get 11. Fill in the blanks by choosing correct option. 

a)          114       b) 113 

c)          110       d)  None of these. 

 


